CONTROLLED

h%ﬁ?& RI-IINO-RACK DK 480 VA, Euro, HD, RS Crossbar instruction

Instruction for

DK480 and RS731 FRONT REAR

Crossbar Identification Crossbar Identification
B [P
ol | H | H
VA EURO HD VA EURO HD
Front M6 Stud [ M6 Screw | Measurement | Measurement | Measurement | Foot plate Rear M6 Stud [ M6 Screw | Measurement | Measurement | Measurement | Foot plate
Vehicle Date Crossbar p length length strip length | strip length Distance arrow length length strip length | strip length Distance arrow
ad ; . . . Pad ) . . .
(mm) (mm) per side per side (x) direction (mm) (mm) per side per side (x) direction
BMW 2
Series F22
odr Coupe, | 14- |1180ommfmar2| 47 | 45 | 164mm | 100mm | &M\ our Ymar2| 47 | a5 | 167mm | 112mm | 292MM/ oyt
: ; 35,9/32 35,33/64
inlc. M235i/
M240i
Insert the M6 Stud and Discard 4x flat bases M311 within the leg kit. Replace
install 2500 FMP System with the Wedge type bases M879 & M881 within DK480. Measurement A: _ 450mm Measurement B: _ 720mm

as per corresponding fitting

instruction. x /
y (e mel] gyl
% M311 M879, M881

Be sure Stud is secure.

‘ \)
[ /E IIIIE‘\\

P ——
M881 — /

Document No. R1300 Issue 1: 20 March 2017 Page 1 of 1


rodr
Small Controlled


